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GOOARIEIE  B(10)EIE  MEHZ1HEH  2:(300) 240 (o) © el
e oue | 4 3| sz
e A 6,188,660 6,150,693 37,967
700 AlHHIE 6,188,660 6,150,693 37,967
710 FYHIE 6,138,660 6,100,693 37,967
714 A 1,236,170 1,201,803 34,367
300 BHo|d 1,236,170 1,201,803 34,367
308 ARR|HAHISOIM 470,170 435,803 34,367
07 AR|HAZIREZ 470,170 435,803 34,367
OEZHLEA| ofpx{2|Ald H2|chel RE=
Z3d (438,670,0009) - 7|4 (412,545,0008) = 26,125
OMZE S42| skex{2lid 223
43 (22,500,000%)) - 713 (14,258,000%) = 8,242
716 2{2|&H| 4,195,398 4,195,398 0
300 Zdold 3,472,978 3,472,978 0
307 g2izto|d 3,472,978 3,472,978 0
05 DIZIRIEZ 3,472,978 3,472,978 0
OOl st 2e(ChH(EQ, 0z e (EXR)(RHHHEF)
23 (1,048,858,0009) - 7|4 (1,048,858,0008) = 0
751 ukza|y]| 707,092 703,492 3,600
200 =7H| 547,080 543,480 3,600
201 Yek2EY| 45,000 43,400 1,600
01 ApFat2|d| 42,800 41,800 1,000
oG 1,000
UV 1289 (3HERE) ToRle Mol
44 (100,000% x 58 x 63]) - 7|4 (100,000¥ x 5& x 43|) = 1,000
02 352G 2,200 1,600 600
OSIe==83| 3lH| 44 (2,200,000%) - 7|4 (1,600,000%) = 600
207 AIHE| 493,500 491,500 2,000
01 <729 493,500 491,500 2,000
O3t He|chgl HutHor 89
24 (47,000,0008) - 7|8 (45,000,000€) = 2,000




